
Comment on 90
◦

lattice

parameter µ = 80◦ µ = 90◦

β̂ = L ·
1+sin(µ/2)

sin µ L · 1.668 L · 1.707

β̌ = L ·
1−sin(µ/2)

sin µ
L · 0.363 L · 0.293

D̂ = L2

4ρ ·
1+0.5 sin(µ/2)

sin2(µ/2)
L2

4ρ · 3.198 L2

4ρ · 2.707

Ď = L2

4ρ ·
1−0.5 sin(µ/2)

sin2(µ/2)
L2

4ρ · 1.642 L2

4ρ · 1.293

ξnat. = −
N
π tan(µ/2) −

N
π · 0.839 −

N
π · 1.0

ξsext.,x =
N

4π

[

m̂D̂β̂ + m̌Ďβ̌
]

(1)

ξsext.,y =
N

4π

[

m̂D̂β̌ + m̌Ďβ̂
]

(2)

ξsext. = −ξnat. (3)

⇒

parameter µ = 80◦ µ = 90◦

m̂ = ξnat.

D̂(β̂+β̌)
0.129 · 4ρ

L3 0.184 · 4ρ
L3

m̌ = m̂ ·
D̂
Ď

0.251 · 4ρ
L3 0.387 · 4ρ

L3

A 90◦ lattice requires ≈ 50% stronger sextupoles than

a 80◦ lattice.

Dynamic aperture???
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